[ Efficiency vs vertpos |

-
>

[
>

o

=

Ratio

20.18
20.16
(8]
$0.14
[
£0.12

0.2

0.1
0.08
0.06
0.04
0.02

............................................

..........................................

10

7.
3

-+

10 0?
TP vertr (cr%)

. IUII Tt

e
i p— t“TT—JanUpdate: stErr
Efficiend t_TT‘JanUE AeBYThEN

N
—
o
()
[
>
o
e

=
[}

Ratio

0.1

$0.09
0.08

>

§0.07F-

o

= 0.06

0.05
0.04
0.03
0.02

0.0

Vs

0.95

[y

2
ofe
o

10 20 30
TP vert z (cm)

-20 -10

[ Efficiency vs. sim PV z |

N
>
o
IS
n
>

c

Ratio

etticiency

0.2

0.18f
=0.16F
0.14F
0.12f

0.15
0.08F
0.06F
0.04F
0.02F

104

1.05

0.95F-

0.9,

5 A5 =10 50 5 10 1520

Sim. PV z (cm)



	Contents
	Page 1


